PT-1 SYLLABUS (2024-25)
CLASS VI

MODERN SCHOOL

Subject Syllabus Marking Scheme
ENGLISH Reading-1 unseen passage-8
2-5-2024 Periodic test -1 Marks
Reading- Unseen Passage Writing-L.A -5 marks
Literature Grammar- 2MCQ based
Lesson 1, Dust of Snow(Poem) 3+2 =5 Marks
Grammar Literature : 1 Rtc = 3Marks
Nouns, Articles 2SA = 2*2=4 marks
Writing 1 LA =5marks
Notice(Lost/found) Total:30
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MATHEMA 1. Knowing our numbers.
TICS 2. Whole numbers.
15-07-24 3 ques- 2 marks each
2 X 3=6
MAT 3 ques-3 marks each
3x3=9
1 ques- 4 marks
4x1=4
1. Number and letter series MAT ques : 1 x4=4
2. Odd one out. MCQ’S :1x5=5
Activity - 2 marks
Total = 30 marks




SCIENCE

CH-2 Sorting materials into groups

7MCQ + 3 A/R (1 mark

11-07-24 CH- 9 Electricity and Circuits each)
2 VSQ (2 marks each)
2 SAQ (3 marks each)
1 LAQ (5 marks)
1 CASE BASE (5 marks
SOCIA | Lesson-1 D 1x10=10
L Knowing your Family TERMS 1x3 =3
SCIEN | Lesson-5 RT QUESTIONS 2x2=4
CE Geographical Regions and Life (part 1) G QUESTIONS 3%2=6
18- E STUDY 1x3=3
07-24 P
WORK 1x4=4
( geographical regions of
India)
AL 30
FRENCH Lesson 1- A comme alphabet ! MCQ- 5 Marks
9-05-24 Lesson 2- Salut ! Culture based Question
Answers- 5 Marks
Fill ups - 5 Marks
Numbers (0-10)- 5 Marks
Salutations (vocabulary)- 5
Marks
Complétez le dialogue - 5
Marks
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COMPUTER | Chapter 5 Embracing Computational Fill in the blanks -4
Thinking True/False. -4
13-05-24 MCQ. -4
Q. ANS. -8
GK Pg.no. 9-18 Answer the following
6-05-24 Current affairs of the Month April 1*5=5

Fill in the




blanks.

0.5%4=2

Tick the correct

one.
Match
them.
Name
them.
True/False.
=2

Current
affairs.

0.5%4=2

0.5%4=2

0.5%4=2
0.5%4

1*5=5




